Uncertainty

Parameter  Best fit Stat Expt  Thbgd Thsig
1.97+0.71 1042 10.46 1+0.21 10.25
P‘WW* —0.64 —0.41 —042 —021 —0.12
ttH +0.57 +0.39 +0.36 +0.17 +0.12
—0.54 —0.38 —0.34 —0.17 —0.03
0.00+1:30 +1.28 10.20 +0.04 +0.09
sz* WU _0.00 —0.00 —0.00 —0.00 —0.00
ttH 1+2.89 1+2.82 +051 +0.15 +0.27
—0.99 ~0.99 ~0.00 —0.00 —0.00
5 »7+0.86 10.80 10.15 +0.02 10.29
u’l =/ _0.74 —0.72 —0.09 —0.01 —0.13
ttH 1+0.73 1+0.71 10.09 10.01 +0.13
—0.64 —0.64 —0.04 —0.00 —0.05
0.28+1:09 10.86 +0.64 +0.10 +0.20
uoT =6 _0.96 —0.77 —0.53 —0.09 —0.19
ttH +1.00 10.83 10.54 1+0.09 10.14
—0.89 —0.76 —047 —0.08 —0.01
0.8p 044 10.23 10.24 1027 10.11
b 04 _0.42 023 —0.23 —027 —0.03
ttH +0.44 +0.23 +0.24 +0.26 +0.11
042 —0.22 —023 —0.27 —0.04
2 59+101 10.54 10.53 10.55 10.37
‘u7+8 TeV 97 _0.88 —0.53 049 —0.49 —0.13
ttH +0.87 +051 +0.48 +0.50 +0.14
—0.79 —0.49 —0.44 —0.44 —0.02
1.14+031 +0.17 1+0.17 +0.13 1+0.14
V13 TeV 1T _07 ~0.16 —0.17 —012 —0.06
ttH +0.29 +0.16 +0.17 +0.13 +0.11
—0.26 —0.16 —0.16 —0.12 —0.05
1.0670:31 10.16 1+0.17 10.14 1+0.15
. 20_0 26 ~0.16 —0.15 —0.13 —0.07
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